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O¥A2dEEs 2= WM& 1,000& = 1,5000H 1,500
OFAEE ¢l M £ HIsS
6,000& = 1500H 900




AN ALEI =X

Hm: HAW 25 Y 84
et AF HAW R4 (el @2)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %E& HRE2
SEEET EPNEEEEELYI
7,000& * 7H x 123] 588
301 LBt A= 1,000 1,000 0
11 JIEtE A2 1,000 1,000 0
OFAHE KRollstd AdNEAZ 1,000
HAYE SN E02t40 24 150,238 150,228 10
J| 75,119
Al 75,119
307 2iz2tol & 150,238 150,228 10
J| 75,119
Al 75,119
11T A EXAIEEX 150,238 150,228 10
OFA4E gt s o240l 29X« 150,238
D] 75,119
Al 75,119
NEHAEHEWHI P 2 2,800 2,800 0
J| 1,400
Al 1,400
307 212t0| & 2,800 2,800 0
J| 1,400
Al 1,400
10 AISIEXAIEEHE2IHIEX 2,800 2,800 0
OXEaAd AL 24 2,800
J| 1,400
Al 1,400
NEAS EAEHSEXNSHMAH 25 167,700 187,270 A 19,570
J| 45,050
Al 122,650
307 2iz2to| A 167,700 187,270 A 19,570
J| 45,050
Al 122,650
10 M SAANEEHESIGHEX 90,100 137,270 NAT 170
OFAGALEINHH 24 90,100
ocHAHESE XM HTE(CYSNET) X 90, 100
J| 45,050
Al 45,050
11T A EXAIEEX 77,600 50,000 27,600
OFAE XA AIS 77,600
HAYE SEHA} T2 29 37,240 37,240 0
J| 18,620
Al 18,620
307 ciztol A 37,240 37,240 0
J| 18,620
Al 18,620
11T AISIEXAIEEX 37,240 37,240 0




AN ALEI =X

Hm: HAW 25 Y 84
et AF HAW R4 (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFAYE SEHA T2 29 37,240
J| 18,620
Al 18,620
2~ =0tel A 6,250 6,250 0
= 2,500
= 625
Al 3,125
307 QI2t0| ™ 6,250 6,250 0
= 2,500
& 625
Al 3,125
11T A EXAIEEX 6,250 6,250 0
oOda3a4d sotel XA 6,250
= 2,500
& 625
Al 3,125
HAadE FHEN L 2T )8 4,000 0 4,000
= 2,000
Al 2,000
307 212t0| & 4,000 0 4,000
o= 2,000
Al 2,000
11 A EXAIEEX 4,000 0 4,000
OFAYE ZME 4,000
= 2,000
Al 2,000
AZHI (AHEI =2 X D) 413,572 279,442 134,130
= 124,047
Al 289,525
2| 382,812 248,682 134,130
= 124,047
Al 258,765
S 2HH| 258,765 166,725 92,040
101 Q124 H| 258,765 166,725 92,040
03 RIAHL*ZZXHE = 258,765 166,725 92,040
OZ22 23 & SH&EE A2 22X B 182,792
ocllgaz 1,417,310& * 4% = 128 68,031
SN0 = 69,031,000& * 4/12 23,011
oclIRaHEIIZ 93,376& * 4% x 12 4,483
S EEEERN
17,5103 * 4% = 20Al2t ~ 128 16,810
o HAEF Y|
1,417,3108 * 55% = 4™ * 23| 6,237
cRYaRLY
141,680& * 49 = 52 x 12& 34,004




2AM: A=K
M HNSHAAH| (AL =X )

ool oz ey (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oS URrY 100,000& » 4% = 1201 & 4,800
oMATHSH 160,000 * 49 = 12)HE 7,680
o+ 40,000 = 4% = 1201 & 1,920
o Z A G A 80,000& = 4% = 120H & 3,840
o JHH 2 =4I 110,000 * 498 = 12)H& 5,280
o8¢ 100,000& = 4H = 1201 & 4,800
ST AMAIE BAMI BE Ul
81,0003 » 2& * 4% « 23| 1,296
oIl =l 150,000 * 4% 600
OFAEZsAE FA2Ze 224 2= 27,626
=lleg 1,224,460 » 1H » 128 14,694
&0z 14,694,000& * 4/12 4,898
cHXURSFIMNH=E 75920 » 1H » 12& 912
oA2A2RE
14,2403 = 1% = 5AI2t « 128 855
o HE S IHHI
1,224,460 » 55% » 1 * 23] 1,347
oXHIEHE 160,000& » 198 = 12& 1,920
o Z A G A 120,000& = 1H = 123 1,440
oDl 100,000& = 1H = 12& 1,200
o JHH 2 X4l 30,000& = 12& 360
OFLEHSHA(HAETNTZA(ZS) B 32,667
=Jl2g 1,760,000& » 1H » 128 21,120
SRS = 1,760,000& » 1H * 400% 7,040
o HE S OtH|
1,760,000& * 1H = 50% * 23| 1,760
cHIRSFIUHE 77,280 * 12¢ 928
oA24A2RFE
14,3103 = 5AI2t = 1H = 12& 859
o Z A gAY 80,000& = 1& = 128 960
OEHAEE Ol=SEHEE2E AAHI (ALl =
&) 15,680
o ZE FOHI 500,000& * 4% x 23| 4,000
cHIIRSFIIH=TE 1,000,000& * 4%H 4,000
o ZAUGAH| 120,000& » 4% = 128 5,760
o JHH 2 X4l 40,0003 = 4% « 123 1,920
oIA 2 (SHAEE) 124,047 81,957 42,090
= 124,047
101 @124l 124,047 81,957 42,090
= 124,047
03 RIHAZ 2 E =+ 124,047 81,957 42,090
OCEHAEE OISSEMEERA 2G| (49) 88,200
o5H I (3H) 66,600
= 66,600




COAEI S X
4N 29 B HI (A3 = XD
A2l

ol

e
02 0

= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
o4EH (1Y) 21,600
= 21,600
O4Ed J|1& 2€3 10,790
= 10,790
OAlIZ+el =Y 9,480
= 9,480
OSlZ30 HNe3 9.077
= 9,077
Ot=SEHEZQA Kl 6,500
= 6,500
Jl23 4l 30,760 30,760 0
JI23l 30,760 30,760 0
201 L2l 24,960 24,960 0
01 At 2t 2l 22,560 22,560 0
ORN2Y =3l 300,000& = 12& 3,600
OANREE FA(SAMX &) 200,000& » 128 2,400
O#HFARII A28 F¢
300,000& = 804 23l 4,800
O= &l 7,000 * 209 * 7 « 12 11,760
02 =224l 2,400 2,400 0
ORERS 200,000& = 12& 2,400
202 o4l 1,600 1,600 0
01 = LH YI 1,600 1,600 0
Oofl&aze 2ol 1,600
203 R =&l 4,200 4,200 0
04 EAN2IHRFEHI 4,200 4,200 0
ORAN2EIRFEHI 350,000& = 12& 4,200
MRES(ASI =X D) 100,000 194,532 A 94,532
HEHHK = 100,000 100,000 0
WEHH X = 100,000 100,000 0
702 JISEES 100,000 100,000 0
0MNII3dEEZ3 100,000 100,000 0
OLdBSIIza &= 50,000
O&HMeI=XIIa 8&3 50,000




